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Math 3 Review Unit Review

~ Name:
@ Name the Parelnt function and write the transformations for each of the following.e PO ne V\"\=\ Q-L
1 f(x) = s + 11 CU\OIU- y = %(3x)3 3. fx)=2- 5-(x-49 4 1 G
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Sketch the transformations from the parent function given below. R \/\ + U 4\ \
‘ y-ew -\ 3
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4. —f(2x) +1 52[ (x—1)] +4
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v | " A @ % %-H
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\ / (1)
S ‘ (-3,-0)
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/ ' &,0)
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6. Write the equation of a line that goes through the point (6, 7) and is parallel to 2x + 3y = —11in

. form, and point-slope form. ™ ;_:2/ //m:_Q /
'LA..\’[:"Q/j(X—(o ;I Q./SX‘\-ﬂ:\\ | o) 3D
) -
\—(é_ /3x +\) EX+3(ﬂ~3g

7. Find the equation of the line that goes through the points (3, —8) and (-9, 5). SlopeInt 5:‘3‘“*4

=\3 ‘33 S PR -]
b LA+g ‘-\’a(X Vg _‘cﬁf_z; —\a

o8 =12 + 39 .
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e following:
8. Graph the piecewise function and then complete each of th

il
\ —2lx+1] x<1
5—=x x=3
2
A
Domain: (=% o) 5_%[3)
. Range: L*'O)B'Eﬂ = 5_3/::1._.%,%
< - b 3 f(—3)=_'|_\
/i f@=3.9
fy= 2
v

9. Write the piecewise function for the following graph.

_ 2 C“"’-’J‘EJ]

Lo0= -xan (-2,0)
X EO\"Q)

Write the piecewise function to model each of the following situations.

10. An SUV was purchased for $35,750. The value of the vehicle decreases byﬁ'za,oo a year for the first
4 years and $1700 per year for the next 6 years.

{60 = Y35,150-2400(X) To,u]

3550 -
avoo (1) @
Qoso-11oo(x-u) (4 10}
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11. You have a summer job that pays double time for overtime. That means if you work more than 40

‘ hours in a week, you get paid twice your hourly wage of $8.25.
=X
2 X \hours
2.29% K

-p(,xﬁ z
1,.50(X¥-H0)+330 X > 40O

12. The zoo charges $15 per person for groups of fewer than 50 people. Groups of 50 or more are

charged a reduced rate of $10 per person.
% = o ople
[o, 22l

_\ 19x
'J:')(,X) % Yo § (‘50}00)

\ ach of the following find all of the intercepts, the domain and range, the local and absolute
U extrema, and the increasing, decreasing, and constant intervals.
COMJ ¢ A un (-1.52,- 1} G4 )
13. f(x) = x* — 4x? + 2x + 2 on the interval (-0, ) A
& (0,2 loe Men (152,71
| ’ loc Maw €259 2.239)

N S R: -4,0144,%)
L) R:(-mer<) A: [ Sova (<1530, 289) 0(1.261,°0)

d:)ol.z.c. (-=0,-1.526) 0(.259, 1:26')

¢ ,
\Q1 f(x)=x4_4x2+2x+Zontheinterval(—z,l).(——-*;n;_yr X 5?
CO'W-LOO (0,27 (~.51,0) CDab:wm-.-.,(-ziﬂ,Qz.zzss:v) o 0.251@ X=.2
o o gy @ x=-1.526

k) (-2 o (- 1.526,-H94)or
(-4.9430)R  d)dnc -153,,29)
dec C’Q)"|-52&)UC.Q%) I)
Check for symmetry with respect to both axes and the origin.

15. xy*+10=0_ 16. f(x) = ;—2’:—1

OMAS WL
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Determine whether the function is even, odd, or neither.
17. f(x) = xV1 —x2 Odd 18. g(x) = 43x? @
2
D=1 ©,5. Q¢ Q-5 = 1 x)
(-x) x) =
T-x\1-x2 = Y ﬂ—):—
Loyt (0 Q00 =)

—-ptxj-? —’)’-\}\"Xz e ven

Find the domain in interval notation for each of the following. Verify your answer on your calculator!

‘fm X>x- x2=0

19. f(x) = = 20 flx)== = -\
X -1) ~
—oo,— W)U [\, =) Comn erem (-\,=2)
e = +\ =20

2 )= i (A QxS 2. f&) =7 bzxz—\

XL X{-S XE"\/(‘,

Fy3)u (5, °°) e i
(-0, -0 6 Soksr) ’ T = o

Find the composition and then the domain for the compositions using the following funct|ons Verify

your answer on your calculator!

FlO) =x2+1 () =+Vx h(x)=2 k(x) = 2x + 3
23. f(g(x)) S \10."“) ' 24. h(g(x)) o (o)cc)
=(IX P+ = 3
- Nx
=)
25. (kof)(x) (—o0,==)'R 26. (hok)(x)
. B
=2(x%N+3 ::__3_?3 L—*;%)U(/Z’ )@
B 2%
= D=4 5 =
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Find th
R dcmain. In Interval notatlon for each of the following functions.

_ 2 = >)
e 16) f:(—’f)-m -\ 17)}“(3{):‘;’? ?4_3?"\ 18} f(x) =x*~-3x-54
(‘°°1°°)
(~==,-W)0 (-\\,=0) =Ty =)
19) f(x) = . _Jexr1 XXS ) Fr) =g XX-3
. i 0 0= K=oy, PIWTRE, o6
X L)X ES) 4 S S

(— e _(o‘ 0(~G __c-’) V(-5 oo) E\I(a;‘iﬂ 0(5; 00) | (—oo,-S)u(- 35'\3 UD Joa)

Determine each of the following and state the domain.

f)=x*-4  gx)=Vx h(x) =2 k(x) = 2x+3
22) f(g(x)) 23} (g )(x) 24) (he g)(x)
oy 2 %=l = 5/
- =(=)"-4 [0, =) = Ix?-4 N>
%‘.C""’)‘Zju[z'.o) 3 .'CO)G’O)
- 25) G:-) (x) = 2)(24-3*:( 26) (){x) = K 27} {(k(x)) = Ly 2 \2v+S
= ‘ 3x+3
Q: (-=0,0)v(0,°°) R: [0,0) Q1 (0=
8) (F-0 = X2ax-T '29}_k(f(X)) x2S 0 glhm) = B
R (~0,20) R (-e00) R : (Q)=0)
31) f~}(x) » 32) (g2 9)(x) - 33) k?*(x)

p I 4
Q: [-4,=°) R [0,~°) Q1 (-=.=°)
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For each of the fo!lowmg ;
a) Determine if the function is one-to-one.

b) Find the inverse of the function of the function. a\ "
<} Then Sta‘eé)_ﬂ ma)n and range of the function and the inverse 9()0)

24)  f(x) ._\-x.i.l, 9(00'5)0(‘5%) F—SQ(«oao) 26) j(x)=1x-2 .9[21"0)

x5 (e0,)u(1,29)25) g(x) = R [c_)\oo
@ I&AJ R (.ooe-o OQ%AJ v
ey @)UY @i ® R,
Fo D=t eggd-e Gy S

X -Sx =) R (o8l (B L%wS) vas gox=z  REL2

XL&—UB= \+5Sx . i ! R \—_’1-."0)
\g(x_ﬂ = 1+ Sx | s ‘7; "
@ A SX i
A >x—1
Sketch each function and State the domain and range.
) R e T S -
2 fx) =x ‘( = 28) g(x) = ~Vx+2 x29) f(x) =g*+3 * &)
9"\? L.=o|°°) % [_3‘00)] | Q L (."’ oy °O)
(= O
R ("’0104’) R Ceo R <.5;°°)
30) h(x) = (x—2)2+5 U 31) m(x) =$—2

32) y= —lX+1l+j/\$‘
x 3 \
E:L-GOJ w)

R =,000(0,°0) R (-0,
R (-=0,-2)V (-2/=0)

R (- e0,=0) «j

R 3, =)

&)
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